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& Kpbino (2 wr.)

1 - KA 6 cbH

2-6np(12)

3 - (2c6H, 1 np) *4 (16)
4-6-16Cc6H (3 psaga)

7 — 2 C6H, 2y6, 4 cbH, 2 y6, 2 c6H (12)
8 — 2 C6H, 1y6,4 cbH, 1y6, 2 cbH (10)
9 - 10 c6H

HabusaeM HEMHOro

10 — 1 c6H, 1Yy6,3 c6H, 1Yy6,2 c6H (8)
11 - 4y6

O6pesaTb, 3aTAHYTb

& XBocT

1T-68.n.+1B.N. NnOgbEMA

2 — 5 c6H, 3 cOH B 0AHY NeTnto, 4 COH, 1 np
3-6Cc6H,1nNp,6CoH 1NP
4—7c6H,1np,7c6H,1Tnp

5-18 cbH

6 — 18 cHbH

7 —1y6,7 cbH, 1y6, 7 cOH

8 — 16 cOH

Q -6C6H,1Yy6b, 6 COH, 1Y6

10 — 5¢cbH, 1y6, 5Cc6H,1Yy6

11 — 4 cbH,1y6,4 c6H,1y6

Habusaem HemMHoro. CknaabiBaem nornosiamMm U npoBa3biBaeM 3a
[iBa CTOPOHbI 5 COH.

O6pe3aeM 1 NpPAYEM HUTD.



& Kntos

1T — KA 3 c6H
2=3np(6)
3 — 6 cbH, cC

Teno

— KA 6 c6H

~Gnp{1Z)

~ (1 c6bH, 1 np) *6 (18)

— (2 c6H, 1 np) *6 (24)

5= (3 c6H, 1 np) *6 (30)

6 — (2 c6H, 1 np, 2 c6H) *6 (36)

7 =36 CcbH

8 — (5¢c6H, 1 np) *6 (42)

9 — 42 c6H (42)

10 - 42 c6H (42)

11 = 5 C6H, 5 COH Cc xBOCTUKaAMU, 32 cOH (42)
12 — 42 c6H

13 — 42 c6H

14 — 42 c6H

15— (1 cbH, 1 y6) *5, 27 c6H (37)
16 — MeHsiem uBerT, (1 c6H, 1 y6) *4, 23 c6H, 1 y6 (32)
17 = (6 c6H, 1 y6) *4 (28)

18 — (5 c6H, 1 y6) *4 (24)

19 — (3 c6H, 1 np) *6 (30)

20 — 30 c6H

21 — 30 c6H

22 — 30 cbH

23 — (3 c6H, 1y6) *6 (24)

24 — (2 c6H, 1y6) *6 (18)

25 — (1 c6H, 1y6) *6 (12)
26 — 6 y6

Ve

A WON =



